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जब तक आपको ऐसा करने के लिए न कहा जाए तब तक इस परीक्षण पुस्तिका को न खोिें 

टेस्ट बुकिेट श्रृंखिा  A 
रोि नृंबर (एडलिट काडड  के अनुसार) 

     

 पद- सहायक 
  

निर्ाारित समय : तीि घंटे अनर्कतम अंक: 100 +100 

 
 

1. पिीक्षा शुरू होिे के तुिंत बाद, आपको यह जांच कि लेिी चानहए नक इस टेस्ट बुकलेट में कोई अमुनित, फटा 

या गायब पृष्ठ आनद ि हो। अगि ऐसा है, तो इसे पूिी टेस्ट बुकलेट से बदल लें, इसमें 32 पृष्ठ हैं। 

2. कृपया ध्याि दें  नक ओएमआि उत्ति पत्रक में उनचत स्थािो ंपि िोल िंबि औि टेस्ट बुकलेट सीिीज ए, बी, सी या 

डी को ध्यािपूर्ाक औि नबिा नकसी चूक या नर्संगनत के कोड कििा औि भििा उम्मीदर्ाि की नजमे्मदािी है। 

कोई भी चूक/नर्संगनत उत्ति पत्रक को अस्वीकाि कििे के नलए उत्तिदायी बिाएगी। 

3. यह टेस्ट बुकलेट पेपि-I औि पेपि-II है। पेपि-I में 100 र्सु्तनिष्ठ प्रश्न हैं। पेपि-II में र्र्ािात्मक प्रकाि के प्रश्न 

हैं नजिका उत्ति टेस्ट बुकलेट में ही देिा है। प्रते्यक प्रश्न नहंदी औि अंगे्रजी दोिो ंमें छपा है। प्रते्यक र्सु्तनिष्ठ 

प्रश्न में चाि उत्ति (प्रनतनियाएँ) शानमल हैं।। यनद आपको लगता है नक एक से अनर्क सही उत्ति हैं, तो उस उत्ति 

को नचनित किें  नजसे आप सबसे अच्छा मािते हैं। नकसी भी स्थस्थनत में, प्रते्यक आइटम के नलए केर्ल एक उत्ति 

चुिें। 

4. आपको अपिे सभी उत्तिो ंको केर्ल अलग से दी गई OMR शीट पि ही नचनित कििा होगा। OMR शीट में नदए 

गए निदेश देखें। 

5. सभी आइटम के अंक समाि हैं। 

6. टेस्ट बुकलेट में नर्नभन्न आइटमो ंके उत्तिो ंको OMR शीट में नचनित कििे से पहले, आपको अपिे एडनमट काडा 

के साथ भेजे गए निदेशो ंके अिुसाि OMR शीट में कुछ नर्र्िर् भििे होगें। 

7. जब आप ओएमआि शीट पि अपिे सभी उत्ति भि लें, र्र्ािात्मक प्रकाि के प्रश्नो ंके उत्ति नलख लें तथा पिीक्षा 

समाप्त हो जाए, तो आपको नििीक्षक को ओएमआि शीट तथा टेस्ट बुकलेट स पं देिी चानहए। 

8. नकसी भी प्रश्न के अिुर्ाद में नकसी भी प्रकाि की अस्पष्टता होिे पि प्रश्नपत्र का अंगे्रजी संस्किर् ही अंनतम 

मािा जाएगा। 

9. गलत उत्तिो ंके नलए दंड: 

I. प्रते्यक प्रश्न के उत्ति के नलए चाि नर्कल्प हैं। प्रते्यक प्रश्न के नलए, नजसका गलत उत्ति अभ्यथी द्वािा 

नदया जाता है, उस प्रश्न के नलए निर्ाारित अंको ंमें से एक-नतहाई अंक दंड के रूप में काट नलए जाएंगे।  

II. यनद अभ्यथी एक से अनर्क उत्ति देता है, तो उसे गलत उत्ति मािा जाएगा, भले ही नदए गए उत्तिो ंमें 

से एक सही हो औि उस प्रश्न के नलए भी उपिोक्त के समाि दंड होगा।  

III. यनद कोई प्रश्न रिक्त छोड़ नदया जाता है, अथाात अभ्यथी द्वािा कोई उत्ति िही ंनदया जाता है, तो उस 

प्रश्न के नलए कोई दंड िही ंहोगा। 

 

 

 

लनरीक्षक के हिाक्षर 

 
 

उम्मीदवार के हिाक्षर 
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PAPER- I (Objective type)                                                                           100 marks 

 PROFICIENCY IN COMPUTER OPERATION कृं पू्यटर सृंचािन िें दक्षता 
1.  Which of the following is the smallest unit of 

data in a computer? 
(a) Bit 
(b)  KB 
(c)  Nibble 
(d)  Byte 

कंप्यूटर में डेटा की सबसे छोटी इकाई कौन सी है? 
(a)  बिट 
(b) केिी 
(c)  नििल 
(d)  िाइट 

2.  Which of the following ports is used to connect 
a monitor to a computer? 
(a) USB 
(b) HDMI 
(c) Ethernet 
(d) PS/2 

ननम्नलिखित में स े ककस पोटट का उपयोग मॉननटर को 
कंप्यूटर से जोड़ने के लिए ककया जाता है? 
(a) यूएसिी 
(b) एचडीएमआई 
(c) ईथरिेट 

(d) पीएस/2 

3.  Which feature in MS Word allows you to find 
synonyms for a selected word? 
 
(a) Spell Check 

(b) Thesaurus 

(c) Word Count 

(d) Grammar Check 

एम. एस. वडट में कौन सी ववशेषता आपको ककसी चयननत 
शब्द के पयाटयवाची शब्द िोजने की अनुमनत देती है? 
(a) वर्तिी जााँच  
(b) थथसॉरस 
(c) शब्द गणिा 
(d) व्याकरण जााँच 

4.  What does FTP stand for? 
(a) Folder Text Protocol 

(b) File Transfer Push 

(c) Fixed Terminology Placement 

(d) File Transfer Protocol 

FTP का पूरा रूप क्या है? 
(a)  फोल्डर टेक्स्ट प्रोटोकॉल 
(b)  फाइल ट्ाांसफर पुश 
(c)  फफक्स्ड टर्मतिोलॉजी प्लेसमेंट 
(d)  फाइल ट्ाांसफर प्रोटोकॉल 

5.  Which device allows a computer to connect to 
a network? 
(a) Sound Card 

(b) Graphics Card 

(c) Power Supply 

(d) Network Interface Card (NIC) 

कौन सा उपकरण कंप्यूटर को नेटवकट  से जोड़ने की  
अनुमनत देता है?  
(a) साउांड काडत  
(b) ग्राफफक्सस काडत 
(c) पावर सप्लाई 
(d) िेटवकत  इांटरफेस काडत (एिआईसी) 

6.  The process of identifying specific rows and 
columns so that certain columns and rows are 
always visible on the screen is called_____. 
(a) Freezing 

(b) Locking 

(c) Selecting 

(d) Fixing  

ववलशष्ट पंक्क्तयों और कॉिमों की पहचान करन े की 
प्रकिया ताकक कुछ कॉिम और पंक्क्तयााँ हमेशा स्क्िीन पर 
ददिें, उसे _____ कहा जाता है। 
(a)  फ्रीज ांग 
(b)  लॉफकां ग 
(c)  र्सलेजक्सटांग 
(d)  फफजक्ससांग 
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7.  Which unit is used to measure the speed of the 
processor? 
(a) Hertz 

(b) Bytes 

(c) Pixels 

(d) Dots per inch 

प्रोसेसर की गनत को मापने के लिए ककस इकाई का उपयोग 
ककया जाता है? 
(a) हर्टतज 
(b) िाइर्टस 
(c) पपक्ससल 

(d) डॉर्टस प्रनर् इांच 

8.  Which output device is not used to display 
real-time video feeds or live streaming? 
(a) Monitor 
(b) Webcam 
(c) Projector 
(d) Web Screen 

ककस आउटपुट उपकरण का उपयोग वास्क्तववक समय वीडडयो फीड या 
िाइव स्क्रीलमगं प्रदलशटत करने के लिए नहीं ककया जाता है?  
(a) मॉनिटर 
(b) वेिकैम 
(c) प्रोजेक्सटर 
(d) वेि ्रीि 

9.  Which of the following groups are only input 
devices? 
(a) Mouse, keyboard, monitor, Joystick 

(b) Mouse, keyboard, printer, Light pen 

(c) Mouse, keyboard, Scanner, Joystick, 

Light pen 

(d) Both b and c 

ननम्नलिखित में से केवि इनपुट उपकरण कौन से हैं? 
(a)  माउस, कीिोडत, मॉिीटर, जोयज्टक 
(b)  माउस, कीिोडत, पप्र ांटर, लाइट पिे 
(c)  माउस, कीिोडत, ्कैिर, जोयज्टक, लाइट पेि 
(d)  b और c दोिों 

10.  What does 'GIF' Stands for?  
(a) General Internal Format 

(b) Graphics Interchange Format 

(c) Graphical Intermediate Format 

(d) Geo Interconnection Format 

ज़ी. आई.एफ. का क्या अर्थ है? 
(a) जनरल इंटरनल फॉर्मेट 
(b) ग्राफ़िक्स इंटरचेंज फॉर्मेट 
(c) ग्राफ़फकल इंटरर्मीडिएट फॉर्मेट 

(d) जजओ इंटरकनेक्शन फॉर्मेट 

11.  To select one hyperlink after another during a 
slide presentation, what do you press? 
(a) Tab 

(b) Ctrl + K 

(c) Ctrl + H 

(d) All of above 

 

स्क्िाइड प्रस्क्तुनत के दौरान एक हाइपरलिकं से दसूरे हाइपरलिकं 
को चुनने के लिए आपको क्या दबाना चादहए? 
(a)  टैि 
(b)  Ctrl + K 
(c)  Ctrl + H 
(d)  उपरोक्सर् सभी 

12.  Which of the following is not a type of 
operating system? 
 
(a) Windows 

(b) Linux 

(c) Oracle 

(d) Mac OS 

ननम्नलिखित में से कौन ऑपरेदटगं लसस्क्टम का प्रकार नहीं है? 
(a) पव ांडोज 
(b) र्लिक्सस 
(c) ओरेकल 

(d) मैक ओएस 

13.  Modem stands for _______.  
(a) A type of secondary memory 

(b) Modulator demodulator 

(c) Mainframe operating device memory 

(d) Multiprocessing device 

 

मॉडेम का अर्थ है _______। 
(a) एक प्रकार की सेकें िरी र्मेर्मोरी 
(b) र्मॉड्यूलेटर डिर्मॉड्यूलेटर 
(c) र्मनफे्रर्म ऑपरेटटगं डिवाइस र्मेर्मोरी 
(d) र्मल्टीप्रोसेससगं डिवाइस 
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14.  What is the URL of a website? 

(a) It is the location of website on 

internet 

(b) It is used to create internet 

(c) It is location of peripheral on 

internet 

(d) None of these  

एक वेबसाइट का URL क्या है? 
(a)  यह इांटरिेट पर वेिसाइट का ्थाि है 
(b)  इसका उपयोग इांटरिेट ििािे के र्लए फकया जार्ा है 
(c)  यह इांटरिेट पर िाह्य उपकरण का ्थाि है 
(d)  इिमें स ेकोई िह ां 

15.  When you create two or four separate 
windows containing part of the spreadsheet 
that can be viewed, you have created 
(a) Sections 

(b) Panes 

(c) Views 

(d) Subsheets 

 

जब आप दो या चार अिग-अिग ववडंो बनात े हैं क्जसमें 
स्क्प्रेडशीट का दहस्क्सा देिा जा सकता है, तो आपन ेक्या बनाया 
है? 
(a)  सेक्सशिस 
(b)  पेन्स 
(c)  व्यूस 
(d)  सिशीटस 

16.  Which Memory is used as Temporary 
Memory?  
(a) Volatile Memory 

(b) Non-Volatile Memory 

(c) Hard Disk Memory 

(d) Flash Disc Memory 

 

अस्र्ायी मेमोरी के रूप में ककस मेमोरी का उपयोग ककया जाता 
है? 
(a) वोलेटाइल र्मेर्मोरी 
(b) नॉन-वोलेटाइल र्मेर्मोरी 
(c) हािड डिस्क र्मेर्मोरी 
(d) फ्लैश डिस्क र्मेर्मोरी  

17.  Language, the computer does understand 
directly? 
(a) High-level language 

(b) Assembly language 

(c) Machine language 

(d) English 

कंप्यूटर सीधे ककस भाषा को समझता है? 
(a) उच्च-्र्र य भाषा 
(b) असेंिल  भाषा 
(c) मशीि भाषा 
(d) अांग्रेजी 

18.  Which unit of computer helps in 
communication between the memory and the 
arithmetic logical unit?  
(a) CTU 

(b) LPU 

(c) UPS 

(d) CPU 

 

कंप्यूटर की कौन सी यूननट मेमोरी और अंकगणितीय लॉजजकल 
यूननट के बीच संचार में मदद करती है? 
(a) सी.टी.यू. 
(b) एल.पी.यू. 
(c) यू.पी.एस. 

(d) सी.पी.यू. 

19.  Which input device is designed to read printed 
text and convert it into digital text? 
(a) Barcode Reader 

(b) OCR (Optical Character Recognition) 

Scanner 

(c) Keyboard 

(d) RFID 

ककस इनपुट उपकरण को मुदित पाठ को पढ़ने और इसे 
डडक्जटि पाठ में बदिने के लिए डडज़ाइन ककया गया है? 
(a) िारकोड र डर 
(b) ओसीआर (ऑजप्टकल कैरेक्सटर ररकजनिशि) ्कैिर 
(c) कीिोडत 
(d) आरएफआईडी 
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20.  Which of the following shortcut key is used to 
minimize all open windows and display the 
desktop?  
(a) Windows logo+D 

(b) Alt+Shift+C 

(c) Ctrl+V 

(d) Tab+Shift+C 

निम्ननिखित में से कौि सी शॉर्टकर् क ुं जी का उपयोग सभी ि िी 

हुई न ुंडो और डेस्कर्ॉप नडस्प्ले को नमिीमाइज करिे के निए 

नकया जाता है? 

(a) वविंोज लोगो+D 

(b) Alt+Shift+C 
(c) Ctrl+V 
(d) Tab+Shift+C 

 

  
GENERAL KNOWLEDGE AND CURRENT 

AFFAIRS 

 

सािान्य ज्ञान और वतडिान प्रभाव 

21.  In which event did Vinesh Phogat receive a 
disqualification for exceeding weight limits at 
the Paris Olympics 2024? 
(a) Women's 48kg Freestyle 

(b) Women's 50kg Freestyle 

(c) Women's 57kg Freestyle 

(d) Women's 76kg Freestyle 

ववनेश फोगाट को ककस प्रनतयोगगता में पेररस ओिंवपक 2024 में 
वजन सीमा पार करने के लिए अयोग्य घोवषत ककया गया था? 
(a) महहला 48 फकग्रा फ्री्टाइल 
(b) महहला 50 फकग्रा फ्री्टाइल 
(c) महहला 57 फकग्रा फ्री्टाइल 

(d) महहला 76 फकग्रा फ्री्टाइल 

22.  The Parliament of India cannot be regarded as 
a sovereign body because 
(a) it can legislate only on subjects entrusted 

to the Centre by the Constitution 

(b) it has to operate within the limits 

prescribed by the Constitution 

(c) the Supreme Court can declare laws 

passed by parliament as unconstitutional 

if they contravene the provisions of the 

Constitution  

(d) All of the above 

भारत की संसद को एक संप्रभ ुननकाय के रूप में नहीं माना जा 
सकता है क्योंकक  

(a) यह केवल सांपवधाि द्वारा कें द्र को सौंप ेगए पवषयों पर ह  
कािूि ििा सकर्ा है 

(b) इसे सांपवधाि द्वारा निधातररर् सीमाओां के भीर्र काम 

करिा पड़र्ा है 

(c) सवोच्च न्यायालय सांसद द्वारा पाररर् कािूिों को 
असांवैधानिक घोपषर् कर सकर्ा है यहद वे सांपवधाि के 

प्रावधािों का उल्लांघि करर् ेहैं  
(d) उपरोक्सर् सभी 

23.  The NITI Ayog of India is?  
a) A Constitutional body 

b) A Statutory body 

c) A non-constitutional body 

d) An independent and autonomous body 

भारत का नीनत आयोग ___________है 
(a) एक संवैधाननक ननकाय 
(b) एक वैधाननक ननकाय 
(c) एक गैर-संवैधाननक ननकाय  

(d) एक स्वतंत्र और स्वायत्त ननकाय 

24.  Who gave the ‘Two- Nation’ theory? 
(a) Shauket Ali 

(b) Allama Iqbal 

(c) Mohammed Iqbal 

(d) None of the above 

'दो राष्र' लसदधांत ककसने ददया था? 

a) शौकर् अल  
b) अल्लामा इक़िाल 
c) मुहम्मद इक़िाल 
d) इनर्मे से कोई भी नहीं 

25.  BITCOIN- A cryptocurrency is based on which 
of the following technology 
(a) Block Chain 

(b) Database 

(c) Spreadsheet 

(d) Cloud Storage 

बबटकोइन-एक किप्टोकरेंसी ननम्नलिखित तकनीकों में से ककस 
पर आधाररत है  
(a) ब्लॉक चेि 
(b) डेटािेस 
(c) ्प्रेडशीट 

(d) क्सलाउड ्टोरेज 
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26.  Who composed the famous song 'Sare Jahan 
Se Achha'? 
(a) Jaidev 

(b) Mohammad Iqbal 

(c) Bankim Chandra Chattopadhyay 

(d) Rabindranath Tagore 

प्रलसदध गीत 'सारे जहां से अच्छा' की रचना ककसने की थी?  
(a) जयदेव 
(b) मोहम्मद इकिाल 
(c) िांफकम चांद्र चर्टटोपाध्याय 

(d) रवीांद्रिाथ टैगोर 

27.  Who announced the formation of an interim 
government in Bangladesh after PM Sheikh 
Hasina’s resignation? 
(a) The President of Bangladesh 

(b) The Chief Justice of Bangladesh 

(c) The Speaker of the Parliament 

(d) Army Chief General Waker-Uz-Zaman 

बांगिादेश में प्रधानमंत्री शेि हसीना के इस्क्तीफे के बाद 
अंतररम सरकार के गठन की घोषणा ककसने की? 
(a)  िाांगलादेश के राष्ट्ट्पनर् 
(b)  िाांगलादेश के मुख्य न्यायाधीश 
(c)  सांसद के सभापनर् 
 (d)  सेिा प्रमुख जिरल वाकर-उ - माि 

28.  Manu Bhaker won Bronze Medal at Paris 
Olympics for: 
(a) Women's 10 m air pistol 

(b) Women’s 50 m rifle three positions 

(c) Women's 50 m air pistol 

(d) None of the above 

मनु भाकर ने पेररस ओिंवपक्स में ककस स्क्पधाट में ब्रॉन्ज मेडि 
जीता? 
(a) महहला 10 मीटर एयर पप्टल 
(b) महहला 50 मीटर राइफल र्ीि ज्थनर् 
(c) महहला 50 मीटर एयर पप्टल 

(d) उपरोक्सर् में से कोई िह ां 
29.  India’s economy grew by _________in the last 

fiscal year (2023-2024) 
(a) 9.1 percent 

(b) 8.2 percent  

(c) 7.5 percent 

(d) 6 percent 

भारत की अथटव्यवस्क्था में वपछिे ववत्तीय वषट (2023-2024) 
में _________ की वदृगध हुई। 
(a) 9.1 प्रनर्शर् 
(b) 8.2 प्रनर्शर् 
(c) 7.5 प्रनर्शर् 

(d) 6 प्रनर्शर् 

30.  Recently, which Union Minister received the 
“Lifetime Achievement Award” for his 
contributions in diabetology? 
 
(a) Annpurna Devi 

(b) Jagat Prakash 

(c) Jitendra Singh 

(d) Nirantar Kumar Singh 

हाि ही में ककस कें िीय मंत्री को डायबबटोिॉजी में उनके 
योगदान के लिए "िाइफटाइम अचीवमेंट अवाडट" प्राप्त हुआ? 
(a) अन्िपूणात देवी 
(b) जगर् प्रकाश 
(c) जजर्ेंद्र र्सांह 

(d) निरांर्र कुमार र्सांह 

31.  By what percentage did RBI increase the Ways 
and Means Advances (WMA) limit for 
States/UTs? 
(a) 28% 

(b) 20% 

(c) 35% 

(d) 15% 

भारतीय ररज़वट बैंक ने राज्यों/कें ि शालसत प्रदेशों के लिए 
अथोपाय अगिम (डब््यू. एम. ए.) की सीमा में ककतने प्रनतशत 
की वदृगध की? 
a) 28% 
b) 20% 
c) 35% 
d) 15% 

32.  Grey Revolution is related to?  
(a) Fertilizers 

(b) Fisheries 

(c) Grains 

(d) Meat 

ग्रे क्ांनत ककससे संबंधित है 
(a) उवडरक 
(b) र्मत्सस्य पालन 
(c) अनाज 

(d) र्मांस 
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33.  During Akbars’s reign on Mughal Empire, 
Todar Mal was associated with 
(a) music 

(b) literature 

(c) finance 

(d) law 

अकबर के शासनकाि के दौरान, टोडर मि का संबंध ककस 
क्षेत्र से था? 

a) सांगीर् 
b) साहहत्य 
c) पवत्त 
d) कािूि  

34.  As per the provision of Article 79 of Indian 
Constitution, the House of the People, the Lok 
Sabha is  
(a) the lower House of the parliament 

(b) the upper House of the Parliament 

(c) Middle House of the Parliament 

(d) None of the above 

भारतीय संववधान के अनुच्छेद 79 के प्रावधान के अनुसार, 
िोक सभा को क्या कहा जाता है? 
(a) सांसद का निचला सदि 

(b) सांसद का ऊपर  सदि 
(c) सांसद का मध्य सदि 

(d) उपरोक्सर् में से कोई िह ां 
35.  The second Five Year Plan was focused on  

(a) Agriculture 

(b) Irrigation 

(c) Heavy Industry 

(d) Green Revolution 

 

दसूरी पंचवर्षीय योजना में  ______ पर ध्यान कें द्रित ककया 
गया र्ा 
(a) कृवि 
(b) ससचंाई 
(c) भारी उद्योग 

(d) हररत क्ांनत 

36.  The first Indian State which approved Uniform 
Civil Code?  
(a) Madhya Pradesh 

(b) Uttar Pradesh 

(c) Uttarakhand 

(d) Himachal Pradesh 

वह पहला भारतीय राज्य जजसने समान नागररक संद्रहता को 
मंजूरी दी? 
(a) र्मध्य प्रदेश 
(b) उत्तर प्रदेश 
(c) उत्तराखंि 

(d) टहर्माचल प्रदेश 

37.  Who is the author of ‘The Train to Pakistan’?  
(a) Jhain Lahari 

(b) Vikram Seth 

(c) Thras Kasing 

(d) Khushwant Singh 

 

द टे्रन टू पाककस्तान’ के लेखक कौन हैं? 
(a) झैन लहरी 
(b) ववक्र्म सेठ 
(c) थ्रास काससगं 

(d) खुशवंत ससहं 

38.  Fibre optics is based on the principle of 
(a) Total internal reflection  

(b) Attraction 

(c) Reversion 

(d) Refraction 

 

फाइबर ऑजप्टक्स ककस ससदिांत पर आिाररत है 
a) पूर्ड आंतररक परावतडन 
b) आकिडर् 
c) प्रत्यावर्ति 
d) अपवतडन 

39.  With which ministry is the Bharat Mala Project 
related?  
(a) Ministry of Road transport and Highways 

(b) Ministry of Railway 

(c) Ministry of Rural Development 

(d) Ministry of Jalshakti 

 

भारत माला पररयोजना का सम्बन्ि ककस मंत्रालय से है ? 
(a) सड़क पररवहन और राजर्मागड र्मंत्रालय 
(b) रेल र्मंत्रालय 
(c) ग्रार्मीर् ववकास र्मंत्रालय 

(d) जलशजक्त र्मंत्रालय 
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40.  The Vice-President of India is the ex-officio 
Chairman of: 
(a) Lok Sabha 

(b) Rajya Sabha 

(c) President House 

(d) All of the above 

भारत के उपराष्रपनत पदेन अध्यक्ष हैं:  
(a) लोक सभा 
(b) राज्य सभा 
(c) राष्ट्ट्पनर् भवि 

(d) उपरोक्सर् सभी 
 

  
General Intelligence and Reasoning 

 

सािान्य बुस्तिित्ता और तकड  
41.  A number of friends decided to go on a picnic 

and planned to spend Rs. 96 on eatables. Four 
of them, however, did not turn up. As a 
consequence, the remaining ones had to 
contribute Rs. 4 each extra. The number of 
those who attended the picnic was 
(a) 8 

(b) 12 

(c) 16 

(d) 24 

कुछ दोस्क्तों ने वपकननक पर जाने का फैसिा ककया और 
रुपये 96 िादय पदाथों पर िचट करन ेकी योजना बनाई। 
िेककन उनमें से चार उपक्स्क्थत नहीं हुए। इसके 
पररणामस्क्वरूप, शेष िोगों को ₹ 4 अगधक योगदान देना 
पड़ा। वपकननक पर उपक्स्क्थत िोगों की संख्या क्या थी? 
(a) 8 

(b) 12 

(c) 16 
(d) 24 

42.  Choose the correct alternative that will 
continue the same pattern and replace the 
question mark in the given series. 
5824, 5242, ?, 4247, 3823 
(a) 4467 
(b) 5164 
(c) 4856 
(d) None of these 

सही ववक्प चुनें जो उसी पटैनट को जारी रिेगा और दी 
गई श्ृंििा में प्रश्न गचह्न को प्रनतस्क्थावपत कर देगा। 
5824, 5242, ?, 4247, 3823 

(a) 4467 
(b) 5164 
(c) 4856 

(d) इिमें से कोई िह ां 
43.  In a certain code language, “POWER” is written 

as “18” and “BELLS” is written as “19”. How 
will be “SKILL” written in that code language? 
(a) 21 

(b) 16 

(c) 12 

(d) More than one of the above 

  

ककसी ववशेष कोड भाषा में, "POWER" को "18" और 
"BELLS" को "19" के रूप में लििा जाता है। "SKILL" 
को उस कोड भाषा में कैस ेलििा जाएगा? 
(a) 21 
(b)  16 
(c)  12 
(d)  उपरोक्सर् में एक से अथधक 

44.  A is the son of C; C and Q are sisters; Z is the 
mother of Q and P is the son of Z. Which of the 
following statements is true? 
(a) P and A are cousins 

(b) P is the maternal uncle of A 

(c) Q is the maternal grandfather of A 

(d) C and P are sisters 

A, C का पुत्र है; C और Q बहनें हैं; Z, Q की मााँ है और 
P, Z का पुत्र है। ननम्नलिखित में से कौन सा कथन सही 
है? 
(a) P और A चचेरे भाई हैं 
(b) P, A का मामा है 
(c) Q, A के िािा हैं 
(d) C और P िहिें हैं 
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45.  A man starts walking towards Northeast 
diagonally from the left corner of a square plot 
and turns right after reaching the centre of the 
plot. After some distance, he again turns right 
and continues walking. Which direction is he 
facing now? 
 
(a)  East 

(b)  West 

(c)  South 

(d) North 

एक आदमी एक वगाटकार प्िॉट के बाएं कोने से उत्तर-पूवट 
ददशा में नतरछी ओर चिना शुरू करता है और प्िॉट के 
कें ि तक पहंुचने के बाद दाएं मुड़ता है। कुछ दरूी तय करन े
के बाद, वह कफर से दाएं मुड़ता है और चिता रहता है। 
अब वह ककस ददशा में मुंह ककए हुए है? 
(a)  पूवत 
(b)  पजचचम 

(c)  दक्षिण 

(d)  उत्तर 

46.  Study the following information carefully to 
answer the question given below. 

Six lectures are scheduled for a week starting 
from Monday and ending on Sunday of the 
same week. Computer Science is not on 
Tuesday or Saturday. Psychology is 
immediately after Organizational Behaviour. 
Statistics is not on Friday and there is a one-
day gap between Statistics and Research 
Methods. One day prior to the schedule of 
Economics there is no lecture. (as that day is 
the 'off ' day and Monday is not the off day.) 
 
Which lecture is scheduled for Friday? 
 
(a) Economics 

(b) None of these 

(c) Computer Science 

(d) Cannot be determined 

नीचे ददए गए प्रश्न का उत्तर देने के लिए ननम्नलिखित 
जानकारी को ध्यान से पढ़ें। 

एक सप्ताह के लिए छह व्याख्यान ननधाटररत ककए गए हैं, 
जो सोमवार से शुरू होकर उसी सप्ताह के रवववार को 
समाप्त होत ेहैं। कंप्यूटर ववज्ञान मंगिवार या शननवार को 
नहीं है। मनोववज्ञान, संगठनात्मक व्यवहार के तुरंत बाद है। 
सांक्ख्यकी शुिवार को नहीं है और सांक्ख्यकी और अनुसंधान 
ववगधयों के बीच एक ददन का अंतर है। अथटशास्क्त्र के 
ननधाटररत समय से एक ददन पहिे कोई व्याख्यान नहीं है 
(क्योंकक वह ददन 'ऑफ' ददन है और सोमवार को 'ऑफ' 
ददन नहीं है)। 
शुिवार के लिए कौन सा व्याख्यान ननधाटररत है? 
(a)  अथतशा्र 
(b)  इिमें स ेकोई िह ां 
(c)  कां प्यूटर पवज्ञाि 
(d)  निधातररर् िह ां फकया जा सकर्ा 

47.  Ankit is cleverer than Sujay. Akash is cleverer 
than Ankit, but not more than Puja. Payal is 
the cleverest of them all. If they are arranged 
in ascending order of cleverness, then who 
among the following will hold the middle 
position? 
(a) Ankit 

(b) Sujay 

(c) Akash 

(d) Puja 

 

अंककत, सुजय स ेअगधक चािाक हैं। आकाश, अंककत से 
ज्यादा चािाक हैं, िेककन पूजा से नहीं। पायि सबसे चािाक 
हैं। यदद हम इन सभी को बदुगधमत्ता के आरोही िम में 
व्यवक्स्क्थत करें, तो मध्य में कौन होगा: 
(a) अांफकर्  
(b) सुझय 
(c) आकाश  
(d) पूजा 
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48.  Three friends, Alice, Bob, and Carol, live in 
three different houses on Elm Street, Maple 
Street, and Oak Street. Each house has a 
different number: 101, 202 and 303. The 
following information is given: 
 
Alice lives on Elm Street. 
Bob's house number is not 303. 
Carol does not live on Maple Street. 
 
Which street does Carol live on? 
Options: 
(a) Elm Street 

(b) Maple Street 

(c) Oak Street 

(d) None of the above 

तीन दोस्क्त, ऐलिस, बॉब, और कैरोि, तीन अिग-अिग घरों 
में रहत ेहैं जो ए्म स्क्रीट, मेपि स्क्रीट, और ओक स्क्रीट 
पर हैं। प्रत्येक घर का नंबर अिग-अिग है: 101, 202 
और 303। ननम्नलिखित जानकारी दी गई है: 
ऐलिस ए्म स्क्रीट पर रहती है। 
बॉब का घर नंबर 303 नहीं है। 
कैरोि मेपि स्क्रीट पर नहीं रहती है। 
कैरोि ककस स्क्रीट पर रहती है? 
पवकल्प: 
(a) एल्म ्ट् ट 
(b) मेपल ्ट् ट 
(c) ओक ्ट् ट 

(d) उपरोक्सर् में स ेकोई िह ां  
49.  If each letter in the alphabet is assigned a 

numeric value (A=1, B=2, ..., Z=26), what is the 
sum of the values of the letters in the word 
"CODE"? 
(a) 25 
(b) 30 
(c) 27 
(d) 40 

यदद वणटमािा में प्रत्येक अक्षर को एक संख्यात्मक मान 
(A = 1, B= 2, Z= 26) ददया जाता है, तो "CODE" 
शब्द में अक्षरों के मू्यों का योग क्या है? 
(a) 25 
(b) 30 
(c) 27 
(d) 40 

50.  At the baseball game, Josh was sitting in seat 
253. Masha was sitting to the right of Josh in 
seat 254. In the seat to the left of Josh was 
Boaz. Iva was sitting to the left of Boaz. Which 
seat is Iva sitting in? 
(a) 251 

(b) 254 

(c) 255 

(d) 256 

बेसबॉि िेि में, जोश सीट 253 पर बैठा था। माशा 254 सीट पर 

जोश की दादहनी ओर बैठी थी । जोश की बाईं ओर की सीट पर 

बोअज़ बैठा था। ईवा बोअज़ की बाईं ओर बैठी थी । इवा ककस सीट 

पर बैठी है? 

(a) 251 
(b) 254 
(c) 255 
(d) 256 

51.  A man is performing yoga with his head down 
and legs up. His face is towards south. In which 
direction will his right hand be? 
(a) North 

(b) South 

(c) East 

(d) West 

एक आदमी ससर नीचे और पैर ऊपर करके योग कर रहा 
है। उसका चेहरा दक्षिि की ओर है। उसका दाद्रहना हार् 
ककस द्रदशा में होगा? 
(a) उत्तर 
(b) दक्षिर् 
(c) पूवड 
(d) पजचचर्म 

52.  Which of the following numbers will replace 
the question mark (?) in the given series? 
6, 16, 29, 62, 121, ? 
(a) 283 

(b) 246 

(c) 238 

(d) 264 

 

ननम्नसलणखत में से कौन सी संख्या दी गई श्रंखला में प्रश्न 
धचह्न (?) के स्र्ान पर आएगी? 
6, 16, 29, 62, 121, ? 
(a) 283 
(b) 246 
(c) 238 
(d) 264 
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53.  What least number must be added to 1056, so 
that the sum is completely divisible by 23 ? 
(a) 2 

(b) 3 

(c) 18 

(d) 21 

1056 में ककस न्यूनतम संख्या को जोड़ा जाना चादहए, 
ताकक योग 23 से पूरी तरह स ेववभाज्य हो? 
(a) 2 
(b) 3 
(c) 18 
(d) 21 

54.  Select the option that represents the correct 
order of the given words as they would appear 
in an English dictionary. 
1. Mathematic 
2. Malfunction 
3. Masterpiece 
4. Manipulation 
5. Manageable 

(a) 2, 5, 3, 4, 1 

(b) 2, 4, 5, 3, 1 

(c) 5, 2, 4, 3, 1 

(d) 2, 5, 4, 3, 1 

उस ववकल्प का चयन करें जो द्रदए गए शब्दों के सही क्म 
को दशाथता है जैसा कक वे अंग्रजेी शब्दकोर्ष में द्रदखाई देंगे। 
1. Mathematic 
2. Malfunction 
3. Masterpiece 
4. Manipulation 
5. Manageable 

(a) 2, 5, 3, 4, 1 
(b) 2, 4, 5, 3, 1 
(c) 5, 2, 4, 3, 1 

(d) 2, 5, 4, 3, 1 

55.  The sum of ages of mother, daughter and son 
is 87 years. What will be the sum of their ages 
after 8 years? 
(a) 110 

(b) 111  

(c) 105 

(d) 108 

मााँ, बेटी और बेटे की आयु का योग 87 वर्षथ है । 8 वर्षथ 
बाद उनकी आयु का योग क्या होगा? 
(a) 110 
(b) 111 
(c) 105 

(d) 108 

56.  Select the correct combination of 
mathematical sign that can sequentially 
replace the * and balance the given equation. 
14 * 11 * 552 * 23 * 29 = 159 
(a) ×, -, ÷, + 

(b) ×,+, ÷, - 

(c) ×,  ÷, -, + 

(d) +, -, ÷, ×   

गणितीय धचह्नों का सही संयोजन चुनें जो क्समक रूप से 
* को प्रनतस्र्ावपत कर सके और द्रदए गए समीकरि को 
संतुसलत कर सके. 14 * 11 * 552 * 23 * 29 = 159 
(a) ×, -, ÷, + 
(b) ×,+, ÷, - 
(c) ×,  ÷, -, + 

(d) +, -, ÷, × 

57.  Select the option in which the numbers are 
related in the same way as are the numbers of 
the following set. 
(57, 126, 197) 
(a) (29, 96, 168) 

(b) (63, 132, 205) 

(c) (75, 148, 217) 

(d) (43, 112, 178) 

उस ववकल्प का चयन करें जजसमें संख्याएं उसी तरह से 
संबंधित हैं जैसे कक ननम्नसलणखत समूह की संख्याएं हैं । 
(57, 126, 197) 
(a) (29, 96, 168) 
(b) (63, 132, 205) 
(c) (75, 148, 217) 
(d) (43, 112, 178) 

58.  Four number-pairs have been given. Out of 
which three are alike in some manner and one 
is different. Select the one that is different. 
(a) 8 : 104 

(b) 12 : 146 

(c) 5 : 65 

(d) 11 : 143 

चार संख्या-युग्म द्रदए गए हैं। जजनमें से तीन ककसी तरह 
से समान हैं और एक सभन्न है । सभन्न को चुननए । 
(a) 8 : 104 
(b) 12 : 146 
(c) 5 : 65 

(d) 11 : 143 
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59.  If a roll number increases by 5 each time a new 
candidate registers, and the first roll number is 
100, what will be the roll number of the 15th 
candidate? 
(a) 125 
(b) 130 
(c) 145 
(d) None of these 

यदद एक रोि नंबर हर बार एक नए उम्मीदवार के पंजीकरण 
पर 5 स ेबढ़ता है, और पहिा रोि नंबर 100 है, तो 15वें 
उम्मीदवार का रोि नंबर क्या होगा? 
(a) 125 
(b) 130 
(c) 145 
(d) इिमें से कोई िह ां 

 

60.  Ray has invited his three buddies over to 
watch the basketball game on his wide-screen 
television. They are all hungry, but no one 
wants to leave to get food. Just as they are 
arguing about who should make the food run, 
a commercial comes on for a local pizze-ria 
that delivers. The phone number flashes on 
the screen briefly and they all try to remember 
it. By the time Ray grabs a pen and paper, each 
of them recollects a different number. 
 
#1: All of the men agree that the first three 
numbers are 995. 
#2: Three of them agree that the fourth 
number is 9. 
#3: Three agree that the fifth number is 2. 
#4: Three agree that the sixth number is 6; 
three others agree that the seventh number is 
also 6. 
 
Which of the numbers is most likely the 
telephone number of the pizzeria? 
(a) 995-9266 

(b) 995-9336 

(c) 995-9268 

(d) 995-8266 

रे ने अपने तीन दोस्क्तों को अपने चौडे़ पदे वािे टेिीववजन 
पर बास्क्केटबॉि िेि देिने के लिए आमंबत्रत ककया है। उन 
सभी को भूि िगी है, िेककन कोई भी भोजन िेने के लिए 
नहीं जाना चाहता है। जैसे ही वे इस बारे में बहस कर रहे 
हैं कक भोजन ककसे िाना चादहए, एक स्क्थानीय वपज़्ज़े-ररया 
के लिए एक ववज्ञापन आता है जो ववतररत करता है। फोन 
नंबर स्क्िीन पर संक्षक्षप्त रूप स ेचमकता है और वे सभी 
इसे याद रिने की कोलशश करत ेहैं। जब तक रे एक किम 
और कागज पकड़त े हैं, उनमें स े प्रत्येक को एक अिग 
सखं्या याद आती है। 
#1: सभी पुरुष इस बात से सहमत हैं कक पहिी तीन 
संख्याएाँ 995 हैं। 
#2: उनमें से तीन इस बात से सहमत हैं कक चौथी संख्या 
9 है।  
#3: तीन इस बात से सहमत हैं कक पााँचवीं संख्या 2 है। 
#4: तीन इस बात स ेसहमत हैं कक छठी संख्या 6 है; तीन 
अन्य इस बात स ेसहमत हैं कक सातवीं संख्या भी 6 है।  
इनमें से कौन सा नंबर संभवतः वपज़्ज़ेररया का टेिीफोन 
नंबर है? 
(a) 995-9266 
(b) 995-9336 
(c) 995-9268 

(d) 995-8266 

 

 GENERAL ENGLISH (To be in English Only) 
61.  Replace the word in capital letters with the given option, without altering the meaning of the 

sentence. 
The invasion force had no artillery and was completely ANNIHILATED. 
(a) dismembered 
(b) reduced 

(c) destroyed 
(d) split 
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62.  Choose the correct meaning of idiom. 
To put one's hand to plough 
(a) To take up agricultural farming 
(b) To take a difficult task 
(c) To get entangled into unnecessary things 
(d) Take interest in technical work 

63.  Choose the one which can be substituted for the given word/sentence. 
A style in which a writer makes a display of his knowledge 
(a) Pedantic 

(b) Verbose 

(c) Pompous 

(d) Ornate 

64.  Someone who avoids other people's company is known as _________. 
(a) Amiable 

(b) Gregarious 

(c) Reclusive 

(d) Amicable 

65.  Fill-in-the-blank sentence using the appropriate word: 
The scientist’s __________ approach to the experiment led to groundbreaking results. 
(a) Ordinary 

(b) Innovative 

(c) Detrimental 

(d) Conventional 

66.  In the following questions choose the word which is the exact OPPOSITE of the given word: 
RELINQUISH 
(a) Abdicate 

(b) Renounce 

(c) Possess 

(d) Deny 

67.  The teacher asked her students to ______the assignments by Friday at noon. 

 (a) turn on 

 (b) turn in 

 (c) turn with 

(d)  None of these 

68.  An interview is a good chance to ____ how candidates ____ difficult situations. 
(a)  Discuss, improved 

(b)  Assess, addressed 

(c)  Analyze, tackling 

(d)  Evaluate, approach 

69.  Passage consists of six sentences. The first and sixth sentence are given in the beginning and end. The 
middle four sentences in each have been removed and jumbled up. These are labelled as P, Q, R and 
S. Find out the proper order for the four sentences. 
S1:  All the land was covered by the ocean. 
P :   The leading god fought the monster, killed it and chopped its body in to two halves. 
Q :   A terrible monster prevented the gods from separating the land from the water. 
R :  The god made the sky out of the upper part of the body and ornamented it with    stars. 
S :   The god created the earth from the lower part, grew plants on it and populated it with animals. 
S6:   The god moulded the first people out of clay according to his own image and mind. 
The Proper sequence should be: 
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(a) QPRS 

(b) QPSR 

(c) PQRS 

(d) PQSR 

70.  Select the most appropriate meaning of the given idiom/phrase. 
To put in a nut-shell:- 
(a) To place something 

(b) To be long and exhaustive about something 

(c) To be blunt about something 

(d) To state something very concisely 

71.  Choose the word which is most nearly the same in meaning as the word given in capital letter: 
GRUESOME 
(a) Attractive 

(b) Disgusting 

(c) Grisly 

(d) Stern 

72.  Read each sentence to find out whether there is any grammatical error in it. 
(a) A small baby breathes about  

(b) 45 times per minute while  

(c) a child of about six years breathes about 25 times per minute. 

(d) No error. 

73.  Choose the alternative which best expresses the meaning of phrase which is italicized and underlined 
in the sentence: 
I cannot conceive of a time when I was without a refrigerator. 
(a) Imagine 

(b) Give birth 

(c) Understand 

(d) Depend 

74.  Fill in the blank with an appropriate option. 
Earwax is a helpful and ______ part of your body's defenses. 
(a) transparent 

(b) flowing 

(c) tedious 

(d) natural  

75.  Choose the word which is opposite in meaning as the word given in capital letter: 
FORBID:- 
(a) Dispose 
(b) Destroy 
(c) Permit 
(d) Happiness 
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Read the Passage below and answer the following questions from 76 to 80: 

Population growth is a fundamental factor influencing the economic development of a country. As the 

population increases, it can have both positive and negative effects on the economy. A growing population 

can lead to a larger labor force, which has the potential to boost productivity and economic output. More 

people can mean more consumers, which can drive demand for goods and services, stimulating business 

growth and creating new job opportunities. 

 

However, rapid population growth can also present challenges. If the growth rate exceeds the rate at which 

the economy can expand, it may lead to overcrowding, increased unemployment, and strain on public 

services such as education, healthcare, and infrastructure. Countries experiencing rapid population growth 

might face difficulties in providing adequate resources and maintaining a high quality of life for their citizens. 

This can result in higher levels of poverty and inequality. 

Moreover, population density can influence economic development in different ways. In densely populated 

areas, there may be more opportunities for businesses and innovations due to the concentration of 

resources and markets. Conversely, high population density can exacerbate environmental degradation, 

increase pollution, and lead to a higher cost of living, which can offset some economic benefits. 

 

Effective management of population growth is essential for ensuring sustainable economic development. 

Governments need to implement policies that address the needs of a growing population while promoting 

economic stability. Investments in education, healthcare, and infrastructure can help mitigate the negative 

impacts of population growth and support long-term economic prosperity. 

76.  What is one potential positive effect of population growth on a country’s economy? 
(a) Increased unemployment 

(b) Strain on public services 

(c) Larger labor force and higher productivity 

(d) Higher levels of poverty 

77.  What can happen if the rate of population growth exceeds the rate of economic expansion? 
(a) Improved quality of life 

(b) Decreased demand for goods and services 

(c) Overcrowding and strain on public services 

(d) Increased environmental benefits 

78.  How can high population density impact economic development according to the passage? 
(a) It always leads to a higher cost of living 

(b) It can lead to more business opportunities and innovations 

(c) It decreases the concentration of resources and markets 

(d) It always improves environmental quality 

79.  What is suggested as a necessary action for managing the impact of population growth on the 
economy? 
(a) Reducing investments in healthcare 

(b) Increasing population density 

(c) Implementing policies that support sustainable development 

(d) Limiting business growth 

80.  Which of the following challenges is mentioned as a potential result of rapid population growth? 
(a) Increased business profits 

(b) Better access to education 

(c) Improved infrastructure 

(d) Higher levels of poverty and inequality 
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 QUANTITATIVE APTITUTE 
 

मात्रात्मक रूझान 

81.  What percentage of numbers from 1 to 70 have 
1 or 9 in the unit's digit? 
(a) 1 

(b) 14 

(c) 20 

(d) 21 

1 से 70 तक की संख्याओं के ककतने प्रनतशत में इकाई 
के अंक में 1 या 9 होता है? 
(a) 1 
(b) 14 
(c) 20 
(d) 21 

82.  A vendor bought toffees at 6 for a rupee. How 
many for a rupee must he sell to gain 20%? 
(a) 3 

(b) 4 

(c) 5 

(d) 6 

एक वविेता ने 1 रुपये में 6 टॉफी िरीदी। 20 प्रनतशत 
िाभ प्राप्त करन ेके लिए उस ेएक रुपये में ककतने बेचने 
होंगे? 
(a) 3 
(b) 4 
(c) 5 

(d) 6 

83.  A boy was asked to multiply a number by 25 but 
by mistake he multiplied by 45 and the answer 
was 200 more than the correct answer. What 
was the number? 
(a) 7 

(b) 8 

(c) 10 

(d) 12 

एक िड़के स ेकहा गया था कक वह एक संख्या को 25 
से गुणा करे, िेककन गिती से उसने 45 से गुणा कर 
ददया और उसका उत्तर सही उत्तर से 200 अगधक था। 
वह संख्या क्या थी? 
(a) 7 
(b) 8 
(c) 10 

(d) 12 

84.  Six years ago the ratio of the ages of Preeti and 
Ruchi was 6: 5. After four years the ratio of their 
ages will be 11: 10. What is Ruchi's present age? 
(a) 18 years 

(b) 17 years 

(c) 16 years 

(d) 15 years 

छह साि पहिे प्रीनत और रुगच की आयु का अनुपात 6:5 
था। चार साि बाद उनकी आयु का अनुपात 11:10 होगा। 
रुगच की वतटमान आयु क्या है? 
(a) 18 साल 
(b) 17 साल 
(c) 16 साल 

(d) 15 साल 

85.  If m and n are whole numbers such that, mn = 
121, then the value of (m-1)n+1 is__. 
(a) 1 

(b) 10 

(c) 121 

(d) 1000 

यदद m और n पूणाांक हैं, ऐसे कक mn=121 है, तो 
(m−1)n+1  का मान _____ है। 
(a) 1 
(b) 10 
(c) 121 

(d) 1000 
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86.  A classroom has 24 students. Each student is 
given a unique set of 7 whole number 
assignments. If 3 of the students each lose 2 of 
their assignments, how many assignments are 
still accounted for in total? 
(a) 168 
(b) 126 
(c) 144 
(d) None of these 

एक कक्षा में 24 छात्र होते हैं। प्रत्येक छात्र को 7 पूणट संख्या 
असाइनमेंट का एक अनूठा सेट ददया जाता है। यदद 3 छात्रों में 
से प्रत्येक अपने 2 असाइनमेंट िो देता है, तो कुि ककतने 
असाइनमेंट के लिए अभी भी गणना की जाती है? 

(a) 168 
(b) 126 
(c) 144 

(d) इिमें से कोई िह ां 
 

87.  The compound interest on Rs. 30,000 at 7% per 
annum is Rs. 4347. The period (in years) is: 
(a) 2 

(b) 3 

(c) 4 

(d) 5 

रुपये 30,000 पर 7% प्रनत वषट की दर से प्राप्त चिवदृगध 
ब्याज Rs. 4,347 है। अवगध (वषों में) क्या होगी? 
(a) 2 
(b) 3 
(c) 4 

(d) 5 

88.  A bag contains Rs 410 in the form of Rs 5, Rs 2, 
and Rs 1 coins. The number of coins is in the 
ratio 4: 6: 9. So, find the number of 2 Rupees 
coins. 
(a) 40 

(b) 50 

(c) 60 

(d) 70 

एक बैग में 5 रुपये, 2 रुपये और 1 रुपये के लसक्कों के 
रूप में कुि 410 रुपये हैं। लसक्कों की संख्या का अनुपात 
4: 6: 9 है। तो, 2 रुपये के लसक्कों की संख्या ज्ञात करें। 

a) 40 
b) 50 
c) 60 
d) 70 

89.  Two-third of one-fifth of one-fourth of a 
number is 10. What is 30% of that number? 

(a) 60 

(b) 100 

(c) 270 

(d) 90 

एक संख्या का एक-चौथाई का एक-पााँचवााँ का  
दो-नतहाई 10 है। उस संख्या का 30% क्या है? 

(a)  60 

(b)  100 

(c)  270 

(d)  90 
90.  Three candidates contested an election and 

received 1136, 7636 and 11628 votes 
respectively. What percentage of the total 
votes did the winning candidate get? 
(a) 57% 

(b) 60% 

(c) 65% 

(d) 90% 

तीन उम्मीदवारों ने चुनाव िड़ा और िमशः 1136, 7636, 
और 11628 वोट प्राप्त ककए। ववजेता उम्मीदवार ने कुि 
वोटों का ककतना प्रनतशत प्राप्त ककया? 
(a) 57% 

(b) 60% 

(c) 65% 

(d) 90% 

91.  How many numbers between 100 and 1000 are 
divisible by 17? 
(a) 51 

(b) 55 

(c) 52 

(d) 53 

100 और 1000 के बीच फ़कतनी संख्याएँ 17 से ववभाज्य 
हैं? 
(a) 51 
(b) 55 
(c) 52 

(d) 53 
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92.  Select the correct statement about properties 
of a triangle. 
(a) The sum of two sides may be equal to 

the third side. 

(b) The sum of two sides is always equal to 

the third side. 

(c) The sum of two sides is always greater 

than the third side. 

(d) The sum of two sides is always less than 

the third side. 

त्रत्रभुज के गुिों के बारे में सही कर्न का चयन करें। 
(a) दो भुजाओं का योग तीसरी भजुा के बराबर हो सकता 

है। 
(b) दो भुजाओं का योग हर्मेशा तीसरी भुजा के बराबर 

होता है। 
(c) दो भुजाओं का योग हर्मेशा तीसरी भुजा से बड़ा होता 

है। 
(d) दो भुजाओं का योग हर्मेशा तीसरी भुजा से छोटा 

होता है। 

93.  A can finish a work in 24 days, B in 9 days and C 
in 12 days. B and C start the work but are forced 
to leave after 3 days. The remaining work was 
done by A in: 
(a) 5 days 

(b) 6 days 

(c) 10 days 

(d) 11 days 

A 24 ददनों में, B 9 ददनों में और C 12 ददनों में काम 
पूरा कर सकता है। B और C काम शुरू करत ेहैं िेककन 
3 ददनों के बाद काम छोड़ने के लिए मजबूर हो जात ेहैं। 
शेष कायट A दवारा ककया गया थाः 
(a) 5 हदि 

(b) 6 हदि 

(c) 10 हदि 

(d) 11 हदि 

94.  The curved surface area of right circular cylinder 
of height 56 cm is 1408 cm2. Find the diameter 
of the base of the Cylinder. 
(a) 0.08 m 

(b) 0.04 m 

(c) 8 m 

(d) 0.8 m 

56 सेर्मी ऊंचाई वाल ेलम्ब वतृ्तीय बेलन का वक् पषृ्ठीय 
िेत्रफल 1408 सेर्मी2 है। बेलन के आधार का व्यास ज्ञात 
कीजजए। 
(a) 0.08 र्मीटर 
(b) 0.04 र्मीटर 
(c) 8 र्मीटर 
(d) 0.8 र्मीटर 

95.  If 2994 ÷ 14.5 = 172, then 29.94 ÷ 1.45 = ? 
(a) 0.172 

(b) 1.72 

(c) 17.2 

(d) 172 

यदद 2994÷14.5 = 172, तो 29.94÷1.45 =? 
(a) 0.172 
(b) 1.72 
(c) 17.2 

(d) 172 

96.  The distance between P and Q is 720 km. A train 
leaves P at 6 am and runs at a speed of 20 m/s. 
The train stops on the way for 1 hour 30 
minutes. At what time train will reach at Q? 
(a) 5:00 pm 

(b) 4:45 pm 

(c) 5:15 pm 

(d) 5:30 pm 

P और Q के बीच की दरूी 720 ककमी है। एक टे्रन सुबह 
6 बजे P से ननकलती है और 20 मीटर/सेकंड की गनत से 
चलती है। टे्रन रास्ते में 1 घंटे 30 समनट के सलए रुकती 
है। टे्रन Q पर ककस समय पहुाँचेगी? 
(a) शार्म 5:00 बज े
(b) शार्म 4:45 बज े
(c) शार्म 5:15 बज े

(d) शार्म 5:30 बज े
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97.  The average age of Raunac and Pratesh is 30 
years. The average age of Pratesh and Ganga is 
20 years. The average age of Raunac and Ganga 
is 26 years. What will be the age of the youngest 
of the three after 5 years? 
(a) 21 years 

(b) 22 years 

(c) 26 years 

(d) 25 years 

रौनक और प्रतेश की औसत आयु 30 वर्षथ है। प्रतेश और 
गंगा की औसत आयु 20 वर्षथ है। रौनक और गंगा की 
औसत आयु 26 वर्षथ है। 5 वर्षथ बाद तीनों में से सबस े
छोटे की आयु क्या होगी? 
(a) 21 विड 
(b) 22 विड 
(c) 26 विड 
(d) 25 विड 

98.  What decimal of an hour is a second? 
(a) .0025 

(b) .0256 

(c) .00027 

(d) .000126 

एक घंटे का कौन सा दशमिव एक सेकंड है? 
(a) .0025 
(b) .0256 
(c) .00027 

(d) .000126 

99.  6m61 is divisible by 11. What is the value of m? 
(a) 0 

(b) 4 

(c) 3 

(d) 5 

6m61, 11 से ववभाज्य है। m का मान क्या है? 
(a) 0 
(b) 4 
(c) 3 

(d) 5 

100.  The average weight of A, B and C is 45 kg. If the 
average weight of A and B be 40 kg and that of 
B and C be 43 kg, then the weight of B is: 
(a) 17 kg 

(b) 20 kg 

(c) 26 kg 

(d) 31 kg 

A, B और C का औसत वजन 45 ककिोिाम है। यदद A और 
B का औसत वजन 40 ककिोिाम और Bऔर C का औसत 
वजन 43 ककिोिाम है, तो B का वजन हैः 
(a) 17 फकग्रा 
(b) 20 फकग्रा 
(c) 26 फकग्रा 
(d) 31 फकग्रा 
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Paper –II (Descriptive Type Test)                                                        Marks: 100 

(Answers are to be written in the space provided only) 

-------------------------------------------------------------------------------------------------------------------------------------- 

Section A-General English (To be in English Language Only) 
 

1.   Make a precis of the following passage in 100 words. As far as possible the precis should be in 
your own words. Suggest a suitable title also for the precis.                                                    (06 Marks) 
                                                                                    
Then there is the newspaper press that huge engine for keeping discussion on low level and making the politics 
test final. To take off the taxes on knowledge was to place a heavy tax on broad and independent opinion. The 
multiplication of journals “delivering drawing judgements on all things all day long” has done much to deaden 
the small stock of individuality in public verdicts. It has done much to make vulgar ways of looking at things and 
vulgar ways speaking them stronger and stronger, by formulation and repeating and stereotyping them 
incessantly from morning until afternoon and from year’s end to year’s end. For a newspaper must live, and to 
live it must please, and its conductors suppose, perhaps not altogether rightly, that it can only please by being 
very cheerful towards prejudices, very chilly to general theories, loftily disdainful to the man of principle. 
 
Their one cry to an advocate of improvement is some sagacious silliness about recognising the limits of the 
practicable in politics and seeing the necessity of adapting theories to facts. As if the fact taking a broader and 
wise view than the common crowd disqualifies a man from knowing what the view of the common crowd 
happens to be, and from estimating it at the proper value for practical purposes. Why are the men who despair 
of improvement to be the only person endowed with the gift of deserving the practicable? It is, however only 
too easy to understand how a journal existing for a day, should limit its view to the possibilities of the day, and 
how being most closely  affected by the particular, it should coldly turn its back upon all that is general, and it is 
easy too to understand the reaction of this intellectual timorousness upon the minds of ordinary readers who 
have too little natural force and too little cultivation to be able to resist the narrowing and deadly effect of the 
daily iteration of short sighted common places. 

 

Answer:- 
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2.   Write an essay on any ONE of the following topics:                                                                      
❖ The installation of solar panels, and a comprehensive tree plantation 

creates a more eco-friendly and self-sufficient campus.  
❖ The cyber world- Benefits and Challenges 
❖ Gender Sensitization 

(06 Marks) 

Answer:- 
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3.   Draft a proposal for organizing an Orientation cum Training Program 
specifically designed for new employees across various departments at the 
university. The focus of this program should be on familiarizing the new joinees 
with the University Work Environment and the Conduct Rules.   

(06 Marks) 

Answer:- 
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4. Read the Passage & give answers to question by tick marking the 
correct answer. 

(1.5 x 4 =06 Marks)  

 
Culture is the cultivation of a plant or garden, not the eradication of its roots, it is an understanding 
of the roots and seeds, their patient care and instructed nourishment. Culture is not knowledge, nor 
is it art, still less is its acquaintance with literature and art. By culture I mean first of all what the 
anthropologists mean; the way of life of a particular people living together in o place. That culture 
is made visible in their arts, in their social system, in their habits and customs, in their religion. It is 
an aggregate of customs, institutions, manners, standards, tastes, morals and beliefs. Now these 
are transmitted rather by the family than by the school, hence when family life fails to play its part, 
we must expect our culture to deteriorate. It is a delusion to think that the maladies of the modern 
world can be put right by a system of instruction. On the contrary, universal education, by lowering 
standards, morals and tastes to a common denominator, and by sharpening the wits rather than 
disciplining character, tends to break down existing checks and balances. Education should be the 
drawing forth of potential values, it should not be the destruction of the safeguards that tradition 
places around young egos naturally inclined to willful and precarious flights. 
 
4.1 The writer uses the term ‘culture’ to refer to 
(a) the cultivation of a plant or garden by a community 
(b) one’s acquisition of knowledge 
(c) the way of life of a particular people living together in one place 
(d) one’s acquaintance with literature and art 
 
4.2 The passage suggests that universal education 
(a) is, in fact, aggravating the existing problems of the modern world 
(b) is the solution to the problems in the modern world 
(c) would prevent us from transmitting culture to the future generation 
(d) would help retain the cultural values 
 
4.3 The culture of a community is said to deteriorate when 
(a) there is a fall in its educational standards 
(b) the family life fails to play its part 
(c) there is universal education 
(d) it adopts the modern system of instruction 
 
4.4 The culture of a community is transmitted 
(a) more by school than the family 
(b) more by family than school 
(c) equally by both 
(d) by the peer group 
 
5.  Read the following sentences to find whether there is any error in any part 

by ticking the correct option:-                                                                                                                                      
(1.5 x 4 =06 Marks) 

 
(1) Suman was exorbitantly paid (a)/ for how skilful she (b)/ welcomed the visitors. (c)/ No error (d) 
(2) She is almost quite competent (a)/for the post of Marketing Executive (b)/so if given a chance (c)/ 

she can show the results. (d) 
(3) The student requested (a)/ the principal to be enough kind (b)/ to grant him seven days leave. 

(c)/No error (d) 
(4) Before the game he felt surely (a)/ of wining, but within five minutes (b)/ he realised that he was 

wrong. (c)/ No error (d) 
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Section B- Office Procedure, Service Rules & University Administration 
खृंड ख -कार्ाडिर् प्रलिर्ा, सेवा लनर्ि और लवश्वलवद्यािर् प्रशासन  

--------------------------------------------------------------------------------------------- 
 
1.  Write a short note on the following. (Any five)                                           (05 x  08=  40 marks) 

ननम्नलिखित पर संक्षक्षप्त दटप्पणी लिखिए। (कोई भी पांच)      
 

1. Probation/ पररवीक्षा 
2. Compensatory Allowance/ प्रनतपूरक भत्ता  
3. Deputation and Foreign Service / 

प्रनतननयुक्क्त और ववदेश सेवा 
4. Repatriation/ प्रत्यावतटन 

5. Sabbatical Leave/ ववश्ाम अवकाश 

6. Annual Performance Assessment 
Report/ वावषटक प्रदशटन आकिन ररपोटट 
 

7. Record Retention Schedule / ररकॉडथ ररटेंशन 
शेड्यूल 

8. Leave Travel Concession/ छुट्टी यात्रा 
ररयायत 

9. Mention any 08 types of leave available to 

government employees / सरकारी कमटचाररयों 
को उपिब्ध 08 प्रकार की छुट्दटयों का उ्िेि 
कीक्जए। 

Answer:- 
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Section C- Financial Regulations 
खृंड ग -लवत्तीर् लवलनर्ि 

------------------------------------------------------------------------------- 
1.1  What is the applicable rate and total value of supply above which Tax Deducted 
at Source (TDS) under Goods and Service Tax (GST) is levied?                                                                                       
िागू दर और उससे ऊपर आपूलतड का कुि िूल्य क्या है, लजसके ऊपर विु एवृं सेवा कर (जी. 

एस. टी.) के तहत स्रोत पर कटौती कर (टी. डी. एस.) िगार्ा जाता है?  

(02 marks) 

        
Answer:- 
 
 
 
 
 
 
 
 
 
 

1.2  What will be the rate(s) of GST applicable on Bill Amount of Rs. 1000/- charged 
as Room Rent and on bill amount of Rs. 500 for food services at the Guest House of 
a Government Institute?     
     सरकारी सृंस्थान के अलतलि गरह िें , रुपरे् 1000/- किरे के लकराए के रूप िें और रुपरे् 500 

रुपरे् की भोजन सेवाओृं की लबि रालश पर िागू होने वािी जी. एस. टी. की दरें  क्या हो ृंगी?  

  

(02 marks) 

 

Answer:- 
 
 
 
 
 
 
 
 
 

1.3  Briefly explain the importance of Bank Reconciliation in Accounting.                                      

      िेखाृंकन िें बैंक सुिह के िहत्व की सृंके्षप िें व्याख्या करें ।  

(02 marks) 

 

Answer:- 
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2.   Write a  note on Public Fund Management System (PFMS) and Treasury Single 
Account (TSA)?   

सावथजननक ननधि प्रबंिन प्रिाली (पीएफएमएस) और टे्रजरी ससगंल अकाउंट (टीएसए) पर संक्षिप्त 
द्रटप्पिी सलखें? 

(06 marks) 

 
 Answer:- 
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3.  Differentiate between Limited Tender & Open Tender?  (06 Marks). 

   सीसमत ननववदा और खुली ननववदा के बीच अंतर बताएं? 

(06 marks) 

 

Answer:- 
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4.  Define the Following (any six).  
     लनम्नलिस्तखत को पररभालित करें   (कोई भी छः ) 

(02 x 06= 12 Marks)  

 

1. Receipt Voucher/ रसीद वाउचर 

2. Ledger/ िाता बही 
3. Credit Note/ के्डडट नोट 

4. Recurring Expenditure/ आवती व्यय 

5. Prior Period Income/  पूवथ अवधि की आय 

6. Accrued Interest/  उपाजजथत ब्याज 

7. Journal Entry/ जनथल प्रववजटट 

8. Chargeback reversal/ चाजथबैक ररवसथल 

9. Internal Audit/ आंतररक लेखा परीिा 
10. Reverse Auction/ ररवसट नीिामी 

 
Answer:- 
 

 
 

 

             

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Answer Key of the question paper for the post of Assistant 
 

Question no. Answer 

1. A 

2. B 

3. B 

4. D 

5. D 

6. A 

7. A 

8. B 

9. C 

10. B 

11. A 

12. C 

13. B 

14. A 

15. B 

16. A 

17. C 

18. D 

19. B 

20. A 

21. B 

22. D 

23. C 

24. D 

25. A 

26. B 

27. D 

28. A 

29. B 

30. C 

31. A 

32. A 

33. C 

34. A 

35. C 

36. C 

37. D 

38. A 

39. A 

40. B 

41. A 

42. D 

43. C 

44. B 

45. C 

46. B 



47. C 

48. C 

49. C 

50. A 

51. C 

52. B 

53. A 

54. D 

55. B 

56. A 

57. B 

58. B 

59. D 

60. A 

61. C 

62. B 

63. A 

64. C 

65. B 

66. C 

67. B 

68. D 

69. A 

70. D 

71. C 

72. D 

73. A 

74. D 

75. C 

76. C 

77. C 

78. B 

79. C 

80. D 

81. C 

82. C 

83. C 

84. C 

85. D 

86. D 

87. A 

88. C 

89. D 

90. A 

91. D 

92. C 

93. C 

94. A 

95. C 

96. D 



 
 
 
 
 

 
 

97. A 

98. C 

99. A 

100. D 


